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DHEELES S2NL SA 50,000 50,000 0
404 SABEHREEES 43,800 0 43,800
01 BAt- SHUAEEES 43,800 0 43,800 | OHA 228EAI B0
[ 22 i a7 B
1 XrZoilat 43,800 0 43,800 | (43,800&82)
405 XraHESH 3,390 31,200(  ~27,810|O2AZ4018t 83| 220
([ Ojlst DS /20,00%2)
01 ML SEHSH 3,390 31,200 27,810 | OHEZS HE4He! &1
DHEZE HESHE 7L 3,390 11,200 A7,810 &38%@%15%)
SASFHIIZ £718)) 22l 262,080 262,080 0 227228
201 Yer2A| 26,830 26,880 0
01 A28 26,830 26,880 0
D] otFz2| 20 12,000 12,000 0
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24 AWl M2 Ol B
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20 A 0lt 2oH
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Al 24,472 30,590 16,118
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Al 57,750 150,150  A92,400
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201 L2 A 12,260 14,480 2,220
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DIGIE=TpE=] 750 1,500 ATE0
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DIHCTIEE QX2 800 1,600 800
1)S2iElolE exa 1,040 1,600 560
1)E2IAE oX Uxiz 450 600 A150
HEXICHE AT 300 480 A180
1)IHHE 2y 120 200 A0
DESNERT] 100 200 A100
SEE U UxE 700 1,200 A500
DEECIR= 4,500 3,600 900
DEUSHE 2% 5,000 5,000 0 2%
201 YEr2H| 5,000 5,000 0
01 Al 228 5,000 5,000 0
1) K| 5,000 5,000 0
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201 B2 2,800 82,750  A79,950 8%%%) T
01 A2l 2,800 73,950|  A71,150 gﬁf%i'jgwﬂ%”
)OI S SE7AHI(DHA) 2,800 2,450 350 %;I__E%?@gim 0= =
405 THaHE =8| 9,100 0 9,100
01 XAtLSEF =Y 9,100 0 9,100 | O=21E DIELS 13
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